m:ﬁﬁﬁ&ﬂaﬁiﬂaﬁﬁ

Declaration : 1 have read and understood the ;nstructions giv

el 3 TR
| (Gignature of Cand1dabe}

Maximu
Marks:

....................................................

a0 Uy # gt
Number of Pages in this Question B

INSTRUCHON TO CANDIDA'I'ES

1. {mmediately after getting the Booklet read jnstructions
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PSYCHOLOGY - II

wAIfeAT - 10

Read each of the following two
statements Assertion (A) and Reason (R)
and indicate your answer using the code
given below :

Assertion (A) :

Belief bias is especially powerful when
reasoner’s ignore the Premises altogether
and focus on the conclusion.

Reason (R):

They accept a believable conclusion and
reject an unbelievable one.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

4 &€

AfuwYT (A) T HWOT (R) SH1 FHo F1
gfed de1 F2 & ITAM ¥ AU IW I
TN ;

AR (A) :

YT YEE W 9 W A € S ad
FTA T 9T F TeReiErs # e 9w
Ffza e €

HIT (R) :

9% G4ifad ferd =+ Eier din smafaq
F IETFHA 2 |

L T

(A) (A) @& (R) 3F ¥ § 791 (R), (A)
I Tl S 2

(B) (A) Tem (R) 31 ¥ ¥, W (R), (A)
HI TE ARA T8 B

(C) (A) ¥ & T (R) 18 B

(D) (A) 315 ¥, 7 (R) 99 B
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2. Match List - I and List - IT and indicate 2. et - 1 T gl - 11 %1 fermsy qe fre 352
your response by choosing the code given 1 HIH HLd §Y WL IR A
below :
List - I List - 11 e - 1 et - 11
(Author) (Model) (wTaw ) ( wfemmT )
(a) Ernstand (i) Linguistic Model (a) T UE @S (i) WE wiaHE
Newell
(b) Johnson and (i) Learning (b) SHEAUE (i) HeAHE 1 AT
Laird Motivation Model GEES sifysron famm
of Creativity
(¢) Clark (iiij) Mental Model of (c) aETH (i) TR F1 AAfGE
Reasoning yfqam
(d) Wilson (iv) Computer (d) faeaa (iv) 2T Fieared ue
Stimulation and HET U] HHYH
Human Problem EIGLIE!
Solving Model
Code : §he
(@ (b) (o) (d) (@ (b) (@ (@
(A) @) @) @) () (A) () @) @ (v)
(B) (v) (i) @) (i) (B) (v) @) () (i)
© @@ Gv) @ () © @ @(v) @ ()
(D) () (i) () () D) @ @) @) ()
3. Which oﬁe, out of these is a incorrect 3. fm=4H aﬁwm@:ﬂ%?
pair ?
(A) Adler - Individual Psychology (A) USTR - FafFas wHfagH
(B) Jung - Analytical Psychology (B) I - Svaifter wRIfamH
(C) Sullivan - Social Analyst (C) Hfear - amfers favers
(D) Freud - Dynamic Psychology (D) WHEE - TS HAIERA
SPACE FOR ROUGH WORK / % &%1d & fod wig
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4. Who was the author of the famous Book 4. ‘#fifezdl fafww’ iy Twe & ogs 1

“Hereditary Genious” ? 9 ?

(A) Arther Jensen (A) 3T A

(B) L.L. Thurstone (B) UA.UA. ¥HeA
(C) Sir Francis Galton (C) ¥R WHIEH ez
(D) R.B. Cattell (D) SR, Fead

5. Following are psychosexual stages of 5. WS & 7R famfafas fawm &

development according to Freud : TSR = ¥

(a) Anal stage : (a) T =@

(b) Oral stage (b) Hifigss =am

(c) Phallic stage (c) TRt =T

(d) Latency period (d) v %@

(¢) Genital stage (e) A HaHi =
Code : T :

(A) (@), (b), (c), (d), (e) (A) (@), (b), (), (d). (e)
(B)  (b) (a) (c), (d), (e) (B)  (b), (@) (c), (d). (e)
(©) (&), (d), (). (b). (a) (©) (@), (d), (), (b) ()
(D) (), (@), (e), (a), (b) (D) (). (d). (e). (a), (b)

6.  Which out of these thinking is involved 6. = # | ysmrosm § #iwmn fa=a af=fea

in creativity ? g7

(A) Divergent Thinking (A) uET o=
(B) Convergent Thinking (B) iy faa
(C) Realistic Thinking (C) Auefare o
(D) Associative Thinking (D) wHEE o

SPACE FOR ROUGH WORK / T% &1 & f&d smg
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Persontality is not assessed through :

(A) Projective test

(B) Self-Report inventories
(C) Situational tests

(D) Differential Aptitude Test

Cephalocaudal sequence of development
proceeds from :

(A) Central part to peripheral part of
the body

(B) Head to feet
(C) Feet to head

(D) Peripheral part of central part of the
body

Match List - I with List - I choosing the
correct code.

List -1 List - IT
(a) Asch, S. (i) Cognitive
dissonance

(b) Festinger, L. (ii) Balance theory
(c) Heider, F.  (iii) Conformity
(d) Berm, D.
Code :
@ (b) (9 (9
(A) @) (@) (v) (i)
(B) @) @ @) (v)
© @) @ @ @)
(D) @ @ (@) ()

(iv) Self perception

=

sAfaae #1 Joaiwa s 7 frar s
®7?

(A) v&d den

(B) w-far g=h

(C) Teufasria qdten

(D) et draan whan

fohms & Fig=sTa srisy y& 8 & -

(A) ¥R % we3 I § Suidrar 9w 9%

(B) fmIWww
(C) WHfma=
(D) ¥R & Iuida 4 | 97 9y g

W@ $T FT 999 FW@ g g - 1 #
et - 11 ¥ foemy '

et - 1 e - 11
(a) T, T, (i) T iy
(b) $EW TE () Wgew st
() TWSL, TH.  (iii) HFETA
(d) ¥4, . (iv) T&-geaefio
e

@ (b) (o) (d)

(A) (i) @ (v) (i)

(B) (i) @) (@) (v)
© @) @ @ (@)
(D) @) @) (i) (iv)

SPACE FOR ROUGH WORK / T% %14 % f&d wmg
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10.

11.

12.

13.

Regarding Structural violence which of
the following statement is incorrect ?

(A) Some social structure or institution
is involved in it.

(B) Itis direct in nature.

(C) It harms or kills people slowly by
depriving them of the satisfaction
of their basic needs.

(D) It is indirect in nature.

Which research approach does not require
manipulation of the independent
variable ?

(A) Cross-cultural study
(B) Action-research
(C) Natural observation

(D) Experimental research

Randomized Block Design is useful
because it :

(A) Uses less number of subjects

(B) Uses blocks to reduce error

(€) Randomizes the groups

(D) Manipulates independent variables

Steps in Psychological test development
involves :

(A) Comparison with other tests
(B) Using different languages
(C) Item analysis

(D) Using many different groups

10.

11,

12.

13.

dETeE T fm i g smwW

FY HEl A & 7

(A) 3HH HE A G SeEr w1
wifae 2t &1

(B) % Wea% WY Fi Bl B

(C) Nl &I IR qey[ AEvaHarsi 9
e T I8 I - i 711 vEt
1941 AR Serdt £ |

(D) ¥& AR ET H A B

1 § SFTHYH g Wes = & 2
AETIF & FHLl 7

(A) TR-WiEpfTF FTTTH
(B) IETE STTHHH

(C) vifos sTaeiea
(D) WANTIEOE SN

Agfeo sl fese gaferd 3w & Fiifw
9% :

(A) W HEAH AN 6 YA FA E
(B) HE FH A * o 3wam fofan s &
(C) e F Agfeo® Fm &

(D) ¥&Ga =X T &L FaT &

HAISRITR T TR F 6 ford seavas

Tt :

(A) 7= qhensdi & |iY ga

(B)  3TCTMI-3TE HTaIed =1 WA

(C) @t favemm

(D) =gd TN HerT-Tem TRl H 394
FHET

SPACE FOR ROUGH WORK / T% & & fod g
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14.

15.

16.

Read each of the following two

statements Assertion (A) and Reason (R)

and indicate your answer using the code

given below.

Assertion (A) :

In both visual and auditory perception, a

segregated segment of the field becomes

the figure and the remainder becomes the

ground.

Reason (R) :

When the observer sees one version of the

figure it is impossible to see the other, the

unseen version becomes the ground of the

figure.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Factor Analysis is used to discover :

(A) Underlying Factors

(B) Inter-correlation Matrix
(C) Eigen Values

(D) Simple Structure

Semantic differential test uses :

(A) Measurement of better adjectives
(B) Bi-polar adjectives

(C) Adjective check-list

(D) Items to test personality

14.

15.

16.

HWHAT (A) T FEOT (R) S FoH H
gfed a1 = R T e F swEm @ e
IW HI FWRTY

it (A)
% T& 7901 S Weaitehtor § & w1 ges
W SR o7 S 3 9y yfh o7 o

T (R) :

SE el AH H TH T @ ¥
&1 TR T T G B R | TR srwey
HEhTO ST w ufy e e &

QQ?,':

(A) (A) T (R) < 9 § 991 (R), (A) #1
TEr TS # |

(B) (A) T (R) Sl ¥ ¥, W (R), (A)
F HE = T R

(C) (A) ¥ & T (R) 5797 ¥

(D) (A) 3™ 8, W (R) 94 &1

FE favewm F1 s5Em = @ § fear
SR ?

(A) Hdafifea =R+

(B) et HEHay Afzay

(C) 3= 5[

(D) W& Hea

19 i Than S9E e
(A) &R favo %t am

(B) Toust farram

(C) Termm wiveqor =i

(D) =AfaTed wiien |

SPACE FOR ROUGH WORK / T% & % fod we
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b8

Read each of the following two
statements Assertion (A) and Reason (R)
and indicate your answer using the code
given below.

Assertion (A) :

Depressed person manifested a strong
tendency to attribute Internal, Stable
cause for bad outcome and external,
unstable situational cause for good
outcome.

Reason (R) :

In expectency theory of depression
characteristic pattern of expectations
determine an attitude of helplessness that
motivates depressive response.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

17

AR (A) T /RO (R) THI FoA HI
qfed q91 F2 & I AT I H 9E

sfime (A) :

Haare Afed #I Ugia 2t ¢ & a8 @
gftons % feru stiafier feer ROl o2 omReE
FTd & AR A Atfeer uftfeafd (situational)
%1 3= Ui & fau)

T (R) :

HIHE % F9en fagra | o ¥ fadramei
=fga & foava sifvgfa =i i+ )
qun rEdTeanE) wfafwar @1 WRiE s

(A) (A) 791 (R) SHI & § 941 (R), (A)
H TE e B

(B) (A) 7™l (R) S ¥4 €, W (R), (A)
! T =arE 19 B

(C) (A) §9 &, 9 (R) I8 B

(D) (A) 379 &, 9] (R) T9 &1

SPACE FOR ROUGH WORK / 7% &4 & ford wme
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18.

%

In the context of HIV infection window
period for the fourth generation antigen/
antibody test is :

(A) Two Weeks
(B) Three Weeks
(C) Four Weeks

(D) Five Weeks

Match List - I (Personality) and List - II
(Characteristic) and indicate your

response by choosing the code given
below :

List - I List - IT
(Personality) (Characteristic)
(a) A Type (i) Owutgoing and
energetic
(b) B Type (i) Well organized

and supportive

(c) CType (iii) Goal oriented
(d) D Type (iv) Controlling and
stable behaviour
Code :

@ B © (@
(v) ) 6 G
®) @) O @
© O @ @ @
(D) ) () @ i)

(A)

18.

19;

IR A HEam F Heo § =g W ¥
WS/ udtatEt giem % fom favel sEfy
BAA R
(A) JF@E
(B) i T@w®
(C) =R ¥R
(D) = Ha®
et - 1 (=femea) g ge=t - 1
( favremrsit ) A faeme au1 fr 52 % swdm
'@['ﬂﬁﬁ'{ﬁ'ﬁ"l;

et - 1 Tt - 11

( eafem ) ( fagremmaii )
(a) & &K (i) T+t wa foramfer
(b) & ¥HN (ii) HeHafted vd gusdfs
(c) 9 9HR (i) =1&F 3t
(d) ¥ ¥FR (iv) 99 ud wafeq

SAER

kT

@ () (o) (9
(A) (iii) () (i)
(B) (i) @) (iv)
© O (v @) i)
(D) (@) (@v) () (i)

—

ii)

SPACE FOR ROUGH WORK / T% &1 & fod =g
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20.

21.

Which test is not used in a clinical
setting ?

(A) MMPI
(B) Myers-Briggs Type Indicator
(C) Ink-Blot Test

(D) TAT

Which are the emotional focused coping
strategies to reduce stress ?

(a) Drug therapy
(b) Social support

(c) Meditation

(d) Cognitive Restructuring
Choose the correct code :

(A) Only (a)

(B) (b). (c), (d)

(©) (b) (a) (d)

(D) (@) (c). (d)

20.

21.

Yot afen # forg wdiem w1 W {4
frm S 82

(A) THEHG.E.
(B) WHE-TIm YR F Hhaw
(C) F=h-wAle qlen

(D) e .

6 F FH FE G BA @ A-hiEd
WU 3919 € ?

(@) ¥ fafwe

(b) ~HEIS WHeT

(€ =M

(d) WAEHE GAEEA
Wl F2 &1 FIA HIfoC
(A) a9 (a)

(B) (®), (c) (d)

(©) (®) (@) (d)

(D) (@) (o) (d)

SPACE FOR ROUGH WORK / % & & fod smg
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22. Match List - I with List - TI and indicate

your answer with the help of codes given

below :
List-1I
(Types of

Intelligence)

(a) Fluid (i)

intelligence

(b) Crystallized (ii)

intelligence
(c) g-factor (1)
(d) S-factor (iv)
Code :

@@ (b) (9 (d)
(A) (v) () @& (i)
(B) (i) @ (@) (iv)
© Gv) @) (D) (i)
D) @) @) @ (i)

23. Social Loafing is :

(A) Group phenomenon

List - II

(Description)

Broad
cognitive
ability

Reasoning

Previously
learned
information
Specific
ability

23,

(B) Individual phenomenon

(C) Group and Individual both the

phenomenon

(D) None of the above

22, el - 1 el - 11 % oy gifem it

7o 192 T 2 ¥ wed e A
et - 1 el - 11
( gfg =1 W) ( =uis )
(a) TG @) fowga
HAHATHE
CEGl
(b) s (i) b
() g-FrEH (i) T A
YT
Hitaferd g
(d) S-=r= (iv) fafere s
F2
@@ () (g ()
(A) (v) @) @ (@)
(B) @) @) () (iv)
€ Gv) () @) (i)
(D) (@) @) @ ()

e e &

(A) wfEw w2
(B) dufFas wer

(C) wnifes wd Fafaas 21 wemd

(D) vwi & & F T

SPACE FOR ROUGH WORK / T% &4 % fordr wrg
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24,

. 25.

The Subjective Well Being (SWB) means ~ 24.

experiencing a :
(a) High level of positive affect.
(b) Low level of negative affect.

(c) High level of satisfaction with one’s
life.

(d) High level of religiosity.
Select the correct option :
(A) (a), (b) and (c) only
(B) (a), (9) and (d) only
(C) (b), () and (d) only
(D) (), (b) and (d) only

Arrange the sequence of observational  25.

Learning. Choose the correct code.
(a) Memory

(b) Motivation

() Attention

(d) Initiation

Code :

(A) (@) (a), (d), (b)

(B) (b), (), (d). (a)

© (@) @, ®) (©

(D) (@), (c). (d), (b)

Fffe guEe (gedfewd Ia @i51) 9
aread Frefeafad 1 sigaa w00 €

(a) T TR F YR 9
(b) 7= W = HOTHE W

(c) 39 Sftaa & wfa sifess aen § Hgfte

(d) s efeema
@t fawew 9w -

(A) Fa4 (a), (b) T ()
(B) e (a), (c) TH (d)
(C) Faa (b), (c) T (d)
(D) %3 (a), (b) T (d)

HISRAF AT F WE FIHA F Fe
1 g

() Hf

(b) fTERom

(c) ITEYH

(d) W

E &

(A) () (), (d), (o)
®  ®) () (@) (a
© (@), @) (b ©
D) (@), © @, (®)

SPACE FOR ROUGH WORK / 1% &4 & fed g
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26. A famous study in the area of helping 26, W =R & &= F fw o ™ wiHs
behaviour is known as Bystander AATT F WF AT s FH TH g
Intervention. It was conducted by : ST ST 81 3 st o .

(A) Clark and Clark (A) T ©F FoE
(B)  Petty and Cacioppo (B) 9% ud Hfgairod
(C) Hall and Lindzey (C) ¥ us foies
(D) Darley and Latané (D) =TrE g Fen

27. Given below are two statements, one 27. W(A) 91 H/IOT (R) ¥ 9mifeg
labelled as Assertion (A) and the other A Fo fow ¥ | Pt FZ H G
labelled as Reason (R). Indicate your FTFH I IW g .
answer using the codes given below :

Assertion (A) : AR (A) :

One function of personality theory is to ™1 ¥ =R ¥ A § QA S

predict future behaviour. Aferice foagia =1 @ w w0 2 '

Reason (R) : %I (R) :

Selection is a part of the person =4, Hfed U & sia-fmat = T 9§

environment interaction,

Code : e

(A)  Both (A) and (R) are true and (R) is (A)  (A)7en (R) 3 5w ¥ 3l (R), (A) F
the correct explanation of (A). el =T

(B)  Both (A) and (R) are true, but (R) is (B)  (A) @ (R) =i 5w £, fifeg (R), (A)
not the correct explanation of (A). F T =rEn 79 §)

(C) (A) is true, (R) is false. (C) (A) T3 %, (R) /9 ¥

(D) (A) is false, but (R) is true. (D) (A) 379 8, ffg (R) 51 ¥

SPACE FOR ROUGH WORK / T% =&1d % forar g
Set - A 9210/TFU-PSY/ELG-1I



28.

29.

30.
(a)

(€)

(d)

ANCOVA uses :
(A)
(B)

Taking out pre-existing differences
Analysis of covariances among

variables
©
(D)

Finding out correlation

Less number of subjects than
ANOVA

The effect of selected independent
variables is taken out from other
independent variables through :

(A) Product-moment correlation
(B) Rank-order correlation

(C) Semi-partial correlation

(D) Partial correlation

List - I List - 11

Mental Filtering (i)  Thought disortion
others are
thinking critically

Mental status (i) Summation of

examination findings

Meta-Analysis Quick assessment

(iif)

of clients
functioning

Mind reading (iv) Ignoring positive
events

Code :

(@ (b) (9 (d)

(&) @ (@) @@ @)

(B) (@) @) (@) ()

(©) @v) (@) @) @)

(D) (@) @ (@v) @

28.

29.

30.
(@)

(b)

(c)

(d)

ANCOVA SR T 2 :
(A) TR & Iufee S i e g R
(B) = H We-WERU I fowerym

Hedey F Grsl e
ANOVA 3 %4 faud

(©)
(D)

T A = F SR &9 Wad W H
9 Frerren ST € 7

(A) UR-T HEwaH
(B) Y- &ofi HEHaY

(C) 14 - sTifern HeHsH

(D) iR HeHe

et - 1 =i - 11

e B () e we, SR
HATHATHE HH

oo frufs (i)  TreRd @ HEed

TiteT

21 favem (iii) FAEE FE H
il

Hige & (iv) THETE FAIE
EaReEt

e

(@ () () (9

(A) @ @) @) (v)

® @) @@ @ @)

(©) (iv) (i) @ ()

(D) @) @ (@v) ()

SPACE FOR ROUGH WORK / T% & & fod sme
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31. Ethics in research involves :
(A) Using proper statistical tools
(B)  Using proper psychological tools
(C) Confidentiality of the data

(D) Asking good questions

32. The name given to the cone pigment is :
(A) Idopsin
(B) Bipolar cells
(C) Ganglian cells

(D) Rhodopsin

33. Which of the following is not an
internalizing form of Psychopathology ?

(A) Anxiety
(B) Depression
(€) Autism

(D) Frequent unexplained Stomach-
aches

31. T7HYN ¥ aww F4 mive 32
(A) sfo@ wifers sva =1 35
(B) 3fem wrdmah Svsrtw @1 sqany
(©) T F iy
(D) 373 Hae g

32. ¥ i wed ¥ .
(A) emESifET
(B) UGN Hiferrnd
(C) it Fifrd
(D) Yefms

33. AR W W stiaReww 51 yER
T R?

(A) fa=m
(B) arEER
(C) aifesy

(D) o= ¥ T¢ FR-aR B

SPACE FOR ROUGH WORK / T% &Td & feray R
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34.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Indicate your
answer using the codes given below :

Assertion (A) :

In Freudian theory unpleasant feelings of
tension or worry experienced by
individuals in relation to unacceptable
wishes are impulses,

Reason (R) :

Techniques used by the Ego to keep
thinking and unacceptable materials out
of consciousness and so to reduce anxiety.

Code :

(A) (A)is true, (R) is false.

(B) (A) and (R) are correct, but (R) is
not the correct explanation of (A).

(©) (R) is true, (A) is false.

(D) Both (A) and (R) are false.

34.

a:ﬁmm(mamm(mﬁmiﬁmfﬁ
o A1 Fro T | Frefafad g2 % ST
H AT S 4

AfHFRTT (A) :

ﬂ%ﬂﬂﬁ;ﬁ%ﬁm,m@ﬁﬂaﬁﬁmﬁ
 wisifere =afaa g Srg s T e e STl
fotan 3 T MEEISH ] ST FEd €

T (R) :

T T 3l s vl # ¥ e
§ 7 v da w1 w9 w0 ¥ T o
maﬁﬁaﬂwmxﬁm%

C TR

(A) (A) T &, (R) 37T %l

(B) (A) 3 (R) 3 7 € TG (R), (A)
% T8 =mEn T ¢

(€) (R) T %, (A) 3T 2

(D) (A) ¥R (R) 2 o8 €1

SPACE FOR ROUGH WORK / % w1 & o s
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35. Match List - I with List - IL. 35. - 1 % W gu - 11 1 firer #if
List - 1 List - II e - 1 = - 11
(Brain Areas) (Functions) (wfe® &) (=)

(@) Hypothalamus (i) Language (@) TEUEEHY (i) o fawg
development
(b) Wernik’s Area (i) Maintain posture (b) afem ufem (i) Feafa sik
and balance e #1 e
(c) Occipital Lobe (i) Regulation of () STHITee & (i) Y@ 3R = w
hunger and thirst fram
(d) Cerebellum (iv) Interprets vision (d) wHfETsR (iv) gfe =1 =rem
Code : %e:
@ () (© (@ @ () (o (@
(A) @) () @@ @) (A) @) 6 () )
B) @ (v @) () ® 6 (v @ i)
© @) @ @ @) © G G) 6 @)
(D) i) G () G) D) @) () Gv) @)

36. Moving object shows a systematic  36. Tfeiie s greyfi @1 rafen w1 e
covering and uncovering of the TS IR =T A & A gevfy wrafie
background. If the background is Y W A S A 2 # 5w
systematically covered on the left then 1 1 8T TR 7
what is this process called ?

(A) IMusion (A) YH

(B) Occlusion (B)  3TadIea
(C) Dillusion (C) faum
(D) Disocculusion (D) I=EITH

37. The desire to experience success and to 37. WHEdl % VS HT TSI q4 Ht forasdi o
participate in activities in which success T @1 o, =afaama wifow ue e 5
depends on personal effort and abilities ST B, 30 Fed ¥
is known as :

(A) Primary Motivation (A) H=7 T
(B) Achievement Motivation (B) SUeifey Huq
(C) Stimulus Generalization (C) e A=
(D)  Extrinsic Motivation (D) =l T
SPACE FOR ROUGH WORK / T% &4 &% ford st
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38.

39.

A signal moving from one neuron to
another, travels through the cells, parts

in specific order. Find the correct

sequence.
(A)
(B)
(©)
(D)

Dendrite, axon, synapse, cell body
Cell body, axon, synapse, dendrite
Dendrite, cell body, synapse, axon

Synapse, axon, dendrite, cell body

Read each of the following two
statements, Assertion (A) and Reason (R)
and indicate your answer using the code
given below :

Assertion (A) :

It is important to create a class room
climate that is accepting.

Reason (R) :

Teachers can apply strategies to reduce
the negative impact of anxiety on learning
and performance. ‘

Code :

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).
(©)
(D)

(A) is true, but (R) is false.

(A) is false, but (R) is true.

38.

39.

e fere S O =R @ R = A
FARY F@ 2, @ 9% 0 favw w6
FITOTHT 8§ FHT W@ &1 WE SAFA
AR |

(A) gferh], T, HIETH, HE IR
(B) I IR, WEHH, W, FiEH
(C) aftent, Fre TR, WETH, TFH
(D) ETeAw, T, e, w i

fa gt wu+al, sifusas (A) 9
FHIOT (R) 1 ufed aen fr %2 % @M 4
| I g

sfumaT (A) :

U FOTHEH F gaE &1 AEi w1
IMavas & = ferenfeEi = TR =1 |

hIUT (R) :

e Ut ToEEEl oS S HiE
us faenfddl ¥ WevH W TRRIHE WHE F
FHFTF|

e

(A) (A)TN(R) i ¥ € 941 (R), (A) FT

el S § |

(A) @1 (R) 3 61 €, T (R), (A)
Y 8 = T 2

(A) T &, T (R) 3164 ¢

(B)

©

(D) (A)€d ¥, T (R) T B

SPACE FOR ROUGH WORK / 1% &d & ford s
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40. Match List - I and List - IT and indicate
your response by choosing the codes given
below :
List - I

(a) Attitudes

List - II

(i) Specific course of action

40. =R - I 9o el - 11 1 gAfem #ifag qon
T R M e w1 s w1 T I
S
qer-1 - 11

(a) SRR (i) Tt gfafwan =1 fafore

i

(b) ®m (3rf\) (i) siafifea Joom o stv

(b) Ergs (ii) Innate drives or motives
(€) Sems (iii) Learned or acquired () #my (iii) wfame e sifsTa whwa
dynamic traits &y
Code : E T
(@) (b) (o) (@) (b) (o)
(A) (i) @) () (A) (i) (i) @)
(B) (@) () (i) (B) (i) () (i)
© @) (i) (@) © @) @) ()
D) @ ) () D) @ (@) ()

41. While interacting with others each person 41, # =afiq farch W = | st w6
compares his own cost to reward ratio HHY ST Hod-JOHT I F T SAfer
with other’s cost to reward ratio. We F Ho3- TR 39 J o F@ Y| TE
prefer that our cost to reward ratio be S v9= Fa & fF s T - R
equal to other person’s ratio. ST &7 =Afad % 39 ST9E % 9O 8
This theory is called as : 39 figia #1 #ea
(A) Balance theory (A) Hger fagi
(B) Gain and Loss theory (B) wifte ud wify fagla
(C) Equity theory (C) == (zf) fagia
(D) All of the above (D) 39U Guft

42.  Thedevelopmentof positive lifeskillsand ~ 42. 1699 Sa vt =y e vd arafas
the development of a realistic and healthy 3R T T T % e FHEAI & :
self esteem is called as :

(A)  Self efficacy (A) T FYTEERITED
(B) Resilience (B) or=femd
(C) Psychological capital (C) THEw Ift
(D) Self growth (D) @ fasm
SPACE FOR ROUGH WORK / T% %1 % ford s
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43. Arrange the four stages of Bandura’s  43. W%Wﬁm%mwﬁ
observational learning. H FHIHG HIfST |
(a) Attention process (a) EHTET WisHA
(b) Motor reproduction process (b) ETETH JTeCEA ufskan
(c) Motivational process (c) WO isha
(d) Retention process (d) wfeemor wfswan
Code : He
(A) (a), (b), (c) and (d) (A) (@), (), (©) 3R ()
(B) (c), (a), (d) and (b) (B) (9), (@), (d) 3 (b)
(©) (). (), (©) and (a) © (). (@) (9 @
(D) (d), (c), (b) and (a) (D) (d), (c), (b) ¥ (a)
44. Match List - I (Author) with List - Il 44, ¥t - I (Wewa ) i Feit - 11 (=&rean)
(Explanation) and indicate your response ¥ iy fremgy 9o F=1 2 & s 4 =l
by choosing the code given below : I T
List - List - 11 et - 1 | - 10
(Author) (Explanation) ( wETE ) (=T )
(a) GeorgeKelly (i) Person Perception (a) IS Hfe (i) - =afe geaafisRT
(b) Roger (i) Social relation and (b) =% (i) TTAIfee HEY wd
development fa=mm
(c) Gestalt (iii) Personal construct (c) Trere (iii) =T o
(d) Horney (iv) Individual unique (d) & (iv) =afe & faforse
qualities fergraamd
Code : e
(a (b) (9 (d (@ () (9 (d
(A) (@) @) (@v) @ (A) (i) @@ Gv) @
B () (@) @ (v) (B) () (@) @) @)
(€ (@) @Gv) @) @ © @ G@v) () ()
(D) (i) (v) (1) (i) (D) (i) @(v) () (i)
SPACE FOR ROUGH WORK / T &4 & fordt e
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45.

46.

According to Jean Piaget which one of
the following is the correct sequence of
cognitive development ?

(A) Preoperational — Sensory motor —
Concrete operational — Formal
operational

(B) Preoperational — Sensory motor —»
Formal operational — Concrete
operational

(C)  Sensory motor — Preoperational —
Formal operational - Concrete
Operational

(D) Sensory motor —» Preoperational —
Concrete operational — Formal
operational

What is not a psychological test ?

(A) Sanity Test

(B) Vocational Test

(€C) Achievement Test

(D) Aptitude Test

45,

46.

S froms & agam fre 4 3 95 it
fowa #1 wdt w9 &2

(A) qﬁﬁmfm—mﬁa’:ﬁsﬂw—qﬁ
e - v dhrams

(B) & Wfwarms - waer dvim
S WA — T s

(C) wHazt ﬁ?ﬁ'q—a-l?f ufwaras -
aﬁﬁrﬁm#ﬁmma;qqﬁmam

(D) Hﬁﬁﬂ?ﬁﬁ—)@m—)@
HihaHw - sy Ghrames

1, FAEH Ghien 7 & 2
(A) UHHSR =1 wdrey
(B) AR wivan
(C) Suafey whey

(D) 4rga wian

SPACE FOR ROUGH WORK / T% &1 % forgy e
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47. Match List - I with List - II by choosing

correct code :
List - I
(a) Impairment

(b) Handicap

(c) Disability

(d) Activity
Limitation

Code :

(a) (b)
(A) (iv) (i)
(B) (i) (iv)
(©) (i) ()
(D) (iv) ()

®

(c)

List - II

Any impairment
that may be
cognitive,
developmental,
intellectual,
mental, physical
Sensory or some
combination of
these.

Difficulty in
executing a task
or action.

Any loss or
abnormality of
psychological,
physiologic or
anatomic
structure or
function.

A physical,
mental or
emotional
condition that
interferes with a
person’s normal
functioning,.

(d)
(i)
(i)
(i)

(i)

47. W& T2 VAN HL G G - 1R G - 11
ﬁﬁﬁﬂ?’l:

et - 10

S AT S FFATHS,
farraTT, A,
THfas, TS da9ed
FYET ST B8 TAeE A
gadl 21

fordft & 3t fman &1
F H B et Hiews |

HATIE, SR Y
TR = H B 9Tl HE
e SUa] FEHS
aafe =11 STETHE |

FE T, wHAfds Sgan
wiafes feufa <t =afsa &
=T S o AT et
(4

() (d)

(i) (i)

@ ()

(i) (i)

(i) (i)

SPACE FOR ROUGH WORK / 7% &md & for&t e
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48.  Yerkes-Dodson law states that greater the 48, -2t fram gvilar & fF foret sifies
task difficulty : FH I B BT I A
(A) Higher the optimal level of arousal (A) RS ST W/ I=T99 B
(B) Lower the optimal level of arousal (B) TeNl IO W HY w
(C) Diagonally processed arousal level (C) 3= =R favi gy
(D) Greater the Psychological and (D) TS U Wi w9 § sSe
Physiological arousal state I #Afys g
49. According to Erikson which of the 49. i & STTAR fRemeer & Hae
following is the main crisis of adolescent E?
stage ?
(A) Identity versus Mistrust (A) 9E9H 9I9W HAfavam
(B) Identity versus Inferiority (B) H&EH a1 &
(C) Intimacy versus Isolation (C) ITeHm s m TR
(D) Identity versus Confusion (D) YewH s fauif
50. Match List - I and List - I and indicate 50, ﬁ-tﬁqﬁr-llﬁmmﬁqqyc#
your response by choosing the code given ST A W I g
below :
List - I List - II T - 1 o= - 10
(a) Creative Self (i) George (a) TITHF T@: (i) i el
Kelly
(b) Personal (i) Alfred (b) =fwE v (i) s
Construct Adler fagia UEe
theory
() Systematic (iij) John (c) HUF 1A~ (i) W afest
desensitization Bowlby Siteran
(d) Attachment  (iv) Joseph (d) wma fagr (iv) % ey
Theory Wolpe
Code : e
@ () () (@ @ () (0 (4
(A) () @) @(v) (i) (A) @) () (iv) (1)
(B) @) @ (@v) (i) (B) () @) (v) (i)
© ® @) @i (v © O @ @) (@)
D) (v) @) @ (i) (D) Gv) (@) (@) (i)
SPACE FOR ROUGH WORK / T% @14 & oy e
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51.

52.

The characteristic to maintain balance in
our lives during difficult or stressful period
of time and which protect us from mental
health problems is called as :

Resilience

(A)
(B) Resistance
(C) Equanimity

(D) Regression

Bruner experiment elicited different
strategies for the selection of hypothesis.
Choose the correct strategies :

(a)

Simultaneous scanning

Stimulus selection

(b)
()

Focus gambling

(d) Successive scanning
Code :

(A) (), (b), (0
(B) (b (a) (d)
© (@, ®)©

(D) (@), (). (d)

o1,

52.

gz fadmar fog 9 29 3 ST & wfed
Y AV TG H ST e FA T
¥ afi ot = Aefas e gt aEens
J feE @A €, S8 FEd ©

(A) =TT

(B) iUy

(C) THMTE

(D) wfaTE

FH 3 yAm H uishea =9 #q fafvm Frem
wega faen )

HE A F T FIC

(a) THHITEH STATEA
FETH T

EaC-GRSE

(b)

e STFelh

(a), (b), (c)
(b), (a), (d)
(©) (@), (b), (¢)

(D) (@) (). (@)

SPACE FOR ROUGH WORK / T% &4 & foa e
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53.  Which of the following group denotes  53.

ﬁwﬁﬁaaﬁﬁaﬁquw#m

correctly the four mediational processes Hferm fagid ¥ 91 Rereya 33 o v
of Bandura’s Social Learning theory ? 1 WEF 2 A el wa d?
(A) (a) Attention  (b) Perception (A) (a) YA (b) WeafiaTo
(c) Reproduction (d) Motivation (c) [AEcarEH (d) JTom
(B) (a) Attention  (b) Perception (B) (a) 3T9uM (b) WegEftHTor
(c) Retention  (d) Reproduction (c) HmoT (d) Jiecareq
(C) (a) Attention (b) Retention (©) (a) YA (b) T
(c) Reproduction (d) Motivation (c) T&cares (d) STom
(D) (a) Attention  (b) Retention (D) (a) s19u™ (b) &R
(c) Extension  (d) Motivation (c) foamo (d) Srom

54. Match List - I with List - II : 54. e - 1 1 Gelt - 119 e

List - I List - IT et -1 et - 11
(a) Life space (i) Bandura (a) e TIH () ==gu
(b) Soft Behaviourism (i) Kurt Lewin (b) 9 =R (i) FE A
(¢) Cognitive map (iii) Tolman (c) HIFATHS TFaen (i) 2ferda
(d) Analytical Psychology (iv) Carl Jung (d) Foreeraomes wHfEEE  (v) w7

Code : Fe

@ () (9 (@ @ () (© (4

(A) () @) (v) (i) (A) ) @) (v) (i)

(B) () () (@) () (B) @) @) (@) (v

©) @) @Gv) @ (@ (©) () Gv) @) ()

(D) @) @) (v) (i) D) () @) (@) (i)

SPACE FOR ROUGH WORK / T% &4 % fedt s
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55.

56.

Who established structuralism in 55.

Psychology ?
(A) Wundt

Titchner

(B)
(C) Watson

(D) William James

Given below are two statements, one 56.

labelled as Assertion (A) and the other
labelled as Reason (R).
answer using the codes given below :

Indicate your

Assertion (A) :
Attending to overcome feelings of

inferiority is the primary motive of human
behaviour.

Reason (R) :

A feeling of inferiority leads to anxiety.
(A) Both (A) and (R) are false.
(B) (A) is true, (R) is false.

(©)

(A) is false, (R) is true.

(D) (A) and (R) are true, but (R) is not

the correct explanation of (A).

wHIfaRE ¥ wEaEE e e &2

(A) ge
(B) feam
(C) aREA

(D) faferm s

T (A) 991 HIOT (R) § AHIHA 3
Fye A= feu m & | Frefafed g2 = 3mm
HTH ST SR g

e (A) :

a1 F W @ g oF % fon ufe
FTA AFET SHEER T WgfhE 32 ¥

A (R) :

Fan 1 rE Sy SR I g
(A) (A) 3R (R) T 318 B
(B) (A) ¥ &, (R) 34 T
(€) (A) o5 ¥, (R) ¥ B

(A) 3 (R) 3 ¥ €, T (R), (A)
&1 el A T

(D)

SPACE FOR ROUGH WORK / 7% &1d & ot 57

9210/TFU-PSY/ELG-I1 27

Set - A



57. There are pair of statements labelled as 57, 31fTaRerT (A) 91 TIUT (R) | TWiferd &1
Assertion (A) and Reason (R). Read the o feu T €1 5% wfgu au w2 F swm A
pair of statements and answer the Wl I gﬁru: :
questions using the following codes :

Assertion (A) : HFUH (A)

The ways of language acquisition varies fafvmr Hepfoel & wimil %t s o ¥ ah9

among people of different Cultures. ¥ fafime et 2|

Reason (R) : RIT (R) :

According to Chomsky deep structure of ST % STER T F T e EREIG]

language is innate. B B

Code : He :

(A) Both (A) and (R) are true and (R) is (A) (A) @1 (R) S w1 § @iR (R), (A)
the correct explanation of (A). =i TE =

(B) Both (A) and (R) are true, but (R) is (B) (A) 7em (R) =i 5 &, 95 (R), (A)
not the correct explanation of (A). w1 TE = T

(C) (A) is true, but (R) is false. (C) (A) 9 & T (R) 31597 &)

(D) (A) is false, but (R) is true. (D) (A) 219 &, T (R) §7 &)

58. In Piaget’s sensory motor stage of 58, T %1 Wadh = famry st & a=
development, the child L B4 iy
(A) Thinks about the world through (A) HOR F 91 § st frmsi F enuw

their action on it T HE
(B) Develops motor skills using their (B) THE F Fiv! %1 fawm wael ¥
senses Expini:t
(C) Egocentric about his/her world (C) @W-Ffzadmz
(D) Thinks using symbols (D) Hr= ® S w1 3ugm
SPACE FOR ROUGH WORK / T% %14 % fod =g
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59.

60.

Where are oxytocin and vasopressin  59.

harmones synthesized ?
(A)
(B) Anterior Pituitary
(C) Gonads

(D)

Posterior Pituitary

Hypothalamus

Match List - I with List - II by choosing  60.

correct code :

List - I List - II
(Psychotherapy) (Important
Names)

(a) Rational Emotive (i) Marsha M.
Behaviour Linehan
Therapy (REBT)

(b) Cognitive (i) Zindel Segal
Behaviour
Therapy (CBT)

(c) Mindfulness (i) Albert Ellis
Based Cognitive
Therapy (MBCT)

(d) Dialectic (iv) Aaron T.
Behaviour Beck

Therapy (DBT)

Code :

(@) (b) () (d)
(A) @) (v) @) @)
(B (Gv) (@) @) @
(©) @) (v) @ @
(D) (iv) @) (@) (i)

Aoy aon arEfen Tl FE W
Tefod 2 8 ?

(A) wea frfE

(B) o fgfaem

(C) = Ul TiF=EH

(D) TFIAEH/EE AT

WE F2 H 9AT FId EC g - 1A
gt - 11§ fam #ife

gt - 1 it - 11
( wefaferaar ) (WEeEgUT TR )
(a) Y@ gEfed () WA
fearefaax it e
(s iEA)
(b) wifafes faefaem (i) forew dime
ot (HaAL)

() VEEFEH e (i) HAewe o™
Finfafea ddt
(TRELHLE)

(d) SETfRS
Taraferm atdi
(Frata)

(iv) TH & %

(@ () (o) (d)

(&) @) (@) @ @
(B) (v) () @@ (@
(©) @) (v) @) (@
(D) @v) (@) () @)

SPACE FOR ROUGH WORK / T @i & &l se
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61.  Which of the dimension is not found in ~ 61. e & firareg fagra § HFE smm &

Sternberg triarchic theory ? T E 7

(A) Contextual Intelligence (A) ¥Hevm g9
(B) Emotional Intelligence (B) wafm* gfg
(C) Componential Intelligence (C) vearH+ gfs
(D) Experimental Intelligence (D) s Tfg

62. Think about the statements related to 62, YW Hm F =y A9 ¥ FYAI T

language and thinking and select the foem Y a1 FHe-dFa & MR T HE I

correct answer using the code : g

(a) Languageand thinking are opposite (a) W us faw w qa’( & fadieh &1
to each other.

() Language and thinking are (b) W ud o U g e
complement to each other.

(c) Language is a Vehicle of thinking. (c) v fa=r o1 g &)

Code : E TR

(A) Only (a) is correct. (A) Fod (a) HEl ¥

(B) (b) and (c) are correct. (B) (b) 3 (c) =& &)

(C) Only (c) is correct. (C) Faa (c) Bt 21

(D) Only (b) is correct. (D) %34 (b) W& &

SPACE FOR ROUGH WORK / % &4 % f&d wme
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© 63. Amblyoscopic is an equipment

(A) Designed to test the degree in which
people can fuse images presented to
the two eye

(B) In which two overlapping pictures
are printed using different colored
ink

(C) That presents two photographs of
- a scene taken from slightly different
point of view

(D) That includes all non-visual
information to interact

64. Which componentis not included in signal
detection theory ?

(A) Noise
(B) Signal
(C) Cut-off decision

(D) Learning

63. USEEEHITEH T8 TF STF € :

(A) Tog o a% =afe 3H1 ArEl v
Wi 1 T . HEhal & S oIy
wireror 1 fesmga fovan T @

) for & arferemdt fomt faf= @ =
3T &4 g0 gz §

() fafi= fegsii & fam mn & 7=l =1
w

(D) st F14 & fau gt H-gfe
el &1 mihe e T R

64. ThHd-Tea fHE F I BHE G FULH
wftafea =& &7

(C) He-3iw fauig

(D) @frmE

SPACE FOR ROUGH WORK / 7% &4 & ford e
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65. Digital Learning requires combination  65. fefieer sifmm & iy § § g & waree
of : i ATEvIH B €2
(a) Technology (a) EEATETSI
(b) Digital content (b) Tefoem fawa-ag
(c) Instructions (c) e
(d) Lesson plan (d) B =
Choose the correct option : e faskeq gfim .
(A) (a), (b) and (d) only (A) % (a), (b) T (d)
(B) (@) () and (d) only (B) 4 (a), (c) T (d)
(©) (a), (b) and (c) only (C) %5 (a), (b) T (c)
(D) (b), (c) and (d) only (D) F (b), (c) T (d)
66. Construct validity can be tested with : 66. T Juar #ii when T foran s v &
(A) Convergent and Discriminant (A) sy s fafaast v
validity
(B) Face validity (B) e Fvm
(C) Predictive validity (C) Yargam erar
(D) Content validity (D) Tt e
SPACE FOR ROUGH WORK / 7% &Td & fordt s1g
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67. Match List - I with List - I by choosing ~ 67. eI % 1 =7 %% §C Gell - 11 gelt - 11

correct code : 9 faemu

List - I List - II -1 =it - 11
(a) Milgram (i) Balance theory @ feom @ S fEes
(b) Bandura (i) Observational (b) ==l (ii) STECHHAS

Learning At

() Heider  (iii) Obedience (c) ®EsH (ii) ST
(d) Levin (iv) Leadership Style (d) =faA (iv) g Vel
Code : FE

(@ (b) () (d) (@ (b (g (d
(A) @) @) @ ) (A) @) @) @ @)
(B) @) @) @ @) (B) () @) @ ()
©) @) @ @ @) © @) @ @ @)
(D) (v) (@) @) @ (D) (v) () @) @)

68. In Rescorla’s ‘aversive suppression  68. frren ‘wfege sama wdm' § sigare Ed
experiment’ conditioning effect is GTE T e, T S 4§ faa T
measured by suppression ratio. Below is fort 2 § @ W@ I = Al
given the formula. Choose the correct
formula computed :

(A) B/(A+B) (A) B/(A+B)
(B) A/(A+B) (B) A/(A+B)
(C) A/(B+B) (C) A/(B+B)
(D) A/(CS+CR) (D) A/(CS+CR)

SPACE FOR ROUGH WORK / T% %4 &% fordl 97
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69. Doing research implies : 69.

(A) Asking questions about so-called
facts

(B) Talking to people
(C) Taking large samples

(D) Doing experiments in the
laboratory

70. What is not a measure of dispersion ? 70.

(A) Range
(B) Quartile Deviation
(C) Median

(D) Average Deviation

71,  Likert-type scales use : 71,

(A) 5 point rating scale
(B) 6 point rating scale
(C) 7 point rating scale

(D) All of the above

T | AT 1 T § 2
(A) wfafeer q=di W g9 Fe

(B) @i ¥ & T
(©) & Topli
(D) WARTINEN H FENT HE

N e = H A s ?
(A) At

(B) =g faeem
(©) fizh

(D) &fta fase

foerd e wha 3w Fwa #
(A) g Uige IEm whe
(B) Toaw uide o oha
(C) 93 uide Wem wa

(D) ¥R f& ™ ww

SPACE FOR ROUGH WORK / 1% &Td & ford wmg

Set - A 34

9210/TFU-PSY/ELG-II



72.

73.

74.

Which is the correct chronological
order ?

(A) W. Wundt - Titchner - William
James - John Dewey

(B) W. Wundt - William James -
John Dewey - Titchner

(C) Titchner - W. Wundt - William
James - John Dewey

(D) W.Wundt- William James - Tichner
- John Dewey

A nerve impulse in the human body may
travel at anywhere from _
miles per hour.

(A) 1-100 miles
(B) 2-200 miles
(C) 3 - 300 miles

(D) 4 - 400 miles

Psychology emerged as a distinct
scientific discipline in :

(A) Leipzeg, 1979
(B) United States, 1890
(C) Germany, 1880

(D) Vienna, 1890

72,

73,

74.

TH s w9 B ?

(A) ®g, g2 - feam - fafeam s -
S fesft

(B) faferam que - faferm s - =i fedt
- feam

(C) foorm - faferaw g - faferm e -
it Fet

(D) fafeam qe - faferam s - femm
- i et

e IR # i e et ot = |
e ufd w21 it 1fa ¥ 1feam
B gFa ¥

(A) 1-100 Hi=
(B) 2-200 Hia
(C) 3-300 Hi&

(D) 4 -400 T

HAlfoaM &1 aeifTe fava & w9 Igue
g ?

(A) feafsm, 1979
(B) FAEET TW, 1890
(C) i+t 1880
(D) faFm, 1890
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75. Choose the correct option. 75. w& fawen =1 g Fifew
(A) Internet Pornography addiction has (A) TR s7velal faato (dRtTEn) =
been included in DSM4. 1 L4 F wifte F fern T
£
(B) Internet Pornography addiction has (B) T2 syveital faawor (dHITR) =rm
been included in DSMS. 1 S TS § wfae w1 o wn
gl
(C) Internet Pornography addiction has (C) =Xe sTveie forawr (Ui ) =am
been included in ICD-11 1 &1, 1. 21.-11 # wnferer & feran
2l
(D) ' Neither in DSM5 nor in ICD-11 (D) ¥ SL.UH.URS5 3R 7 & g #-11
Internet Pornography addiction has T §e arvettel foreon (At =
been included. 1 fae foam man &
76. Data of the same group collected more 76. THE 9T 9 & 9 sifuw aw) usfEa fHy
than 2 times is analyzed with : 221 1 faverm R S
(A) Wilcoxon Signed Rank Test (A) Herragy sxawfta Yo ahen
(B) Kruskal-Wallis Test (B) FFHA-aEAT T
(€) Mann-Whitney Test (C) FA-=r=t ghtan
(D) Friedman Test (D) EHT wiien
. SPACE FOR ROUGH WORK / T% 14 % fod =g
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77. Match List - I (Brain Structure) and
List - IT (Function) and indicate your
response by choosing the correct code

given below.
List - I List - II
(Brain Structure) (Function)

(a) Primary visual (i) Semantic

darea

(b) Superior temporal
lobe processing

(ii) Characteristic

(c) Broca’s area in the
frontal lobe and
medial temporal lobe

(iii) Phonological

(d) Broca's area in the
frontal lobe

(iv) Syntactic

Code :

@ B © (@
(A) @) (@) (@v) (i)
(B) (iv) () (i) ()
(© G) @) @ @)
(D) (@) (v) @) @)

78. Which one is the smallest unit of Nervous
system ?

(A) Neuron

(B) Neurotransmitter
(C) Axon

(D) Cell body

77. |ET - 1 (WiEsh WOEAT) w1 gE - 1

(=rd ) % Wy faemse ag1 fret 2 % svdm
J We W g
et - 1 e - 11
( wftasR o= ) (=)
(@) SR FwafmF &3 (1) e
(b) == vi@ Tfe (ii) Terdraan
: 2
(c) T T Ud HAHa (i) wAFmmA
difes T & S
&

(d) TR We F AHN & (iv) TH-T=

Fe :
@ () () (d
(A) @) @) (@v) i)
(B) (v) () () @)
©) @) @) @ (@v)
(D) ) (v) @) @

78. T O HI GEHaH IHE wE H T2

(A) =

(B) =it
(C) uFH

(D) =¥ WK
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79. What is the correct order of the origin of ~ 79. FHIfaaM % F=ifeha el i1 3eafa & w&
schools of Psychology ? FH HA-F 8 ?
(a) Structuralism (a) HEAER
(b) Behaviourism (b) =HTRHAR
(¢) Functionalism (c) weHEER
Answer by using codes given below : A4 RRUTY Fe Hehell & SR W IR <
(A) (@) (@), (b) (A) (@) (), (b)
(B) (@) (), (9) (B) (a), (b), (9)
©)  (0). (a) (b) (€ (©) (a) (b)
(D) (b), (@), () (D) (b). (@) ()
80. Arrange the following structures of brain 80, 9 f&u U wfeas = H= # fram 3
in terms of their ascendance from lower I HH H SHaftea Hife |
to upper position.
(a) Hypothalamus (a) eEUGEHY
(b) Corpus Callosum (b) HYE FHewH
(c) Pons (c) 4=
(d) Midbrain (d) faegam
Code : ETE
(A) (), (d), (a), (b) (A)  (c) (d), (a), (b)
(®B) (@), (®). (d), (© (B) (a). (b), (d), (c)
(©  (©). ®), (d), (a) (©) (@) (b), (d), (@)
(D) (@), (c). (d). (b) (D) (), (©). (d), (b)
SPACE FOR ROUGH WORK / 1% &1d & fod =g
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81.

82.

83.

Excess of Dopamine in Limbic system is 81.

related to :

(A)
(B)
(©

(D)

Career guidance usually does not require 82.

Learning Disability
Parkinson disease
Schizophrenia

Extreme Aggression

measurement of :

(A)

(B)

(©)

(D)

Which of the following is not the holistic 83.

Aptitude
Skills
Interest

Attitude

model of health ?

(A)
(B)
(©)

(D)

Religious model
Biomedical model
Humanistic model

Existential model

fafras 93 o SmmEa &5t afysa 1 996y
q %l

(A) e srEmefa

wiifaerr qrfey # 3EE! A # FEd T&
g

(A) drgan
(B) v
(C) =mE

(D) &

=1 O 9 919 =k =1 990 ufasy T8 £ 2

(A) wnfHd= wfaey
(B) Srafafects wfaey
(C) wHadmETEl Jfaey

(D) sifereaEt gfeeg

SPACE FOR ROUGH WORK / T% & & ford wg
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84. Focus Group Approach involves : 84.

(A) Opinion-makers
(B) Focusing of attention
(C) Many groups

(D) Political leaders only

]

85. According to Fritz Heider’s attribution  85.

theory which of the following is not
included in dispositional causes ?

(A) Beliefs
(B) Attitudes
(C) Personality characteristics

(D) Social Norms

86. With aging there is decline in which type 86.

of memory ?

(A) Implicit Memory
(B) Explicit Memory
(C) Semantic Memory

(D) Verbal Memory

eI Shigd gftesmmor w7-a1 e #@ €2
(A) T = FHA A

(B) M W &AM

(C) 7% wE

(D) Fae Terifas Farsi

firest ereet & Ty fagia & sgar s
H 58 wwifas ol § afinfea 78 fea
AAE?

(A) favamm

(B) aifrgfaat

(C) =afaes =t ferdreamd

(D) WHIfSF HH

JoEe § fhg vER # 9 § w69 3@
e ¥ 2

(A) s Tf
(B) = wfa
(C) b wyfa
(D) e wgfa
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87. Which meditation technique Maharishi

88.

89,

Mahesh Yogi made famous ?
(A) Yen

(B) Yoga

(C) Transcendental Meditation

(D) Koan

In which year Indian Psychological
Association was established in India ?

(A) 1925
(B) 1900
(C) 1930

(D) 1947

Peace is not merely absence of personal
violence and war but also the absence of
structural and cultural violence.

Who among the following proposed the
definition of peace ?

(A) Charles E. Osgood
(B) H.H. Blumberg
(C) Johan Galtung

(D) Bar-Tol

87.

88.

89.

T 1 o ugfa 1 wefd w=w anit 3 Al
a1 ?

(A) o

(B) Am

(C) STI¥aTT T
(D) =Hied

qRd H YRAE JAASE 99 6 T e
7E ot ?

(A) 1925
(B) 1900
(C) 1930

(D) 1947

viife = eFere SaferT e we g3 i srufeafa
®, afes g GraTeE wd giwnae fEa #it
ety o ¥

o © | formm wifa =5t Swiee wfvvm weanfam
&I ?

(A) =red € TS
(B) TETH. sHA
(C) e megT
(D) ®R-Z
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90. Which is the correct order of four stages

of Creative thinking ?

(A) Preparation - illumination -
verification - incubation

(B) Preparation - incubation -
illumination - verification

(C) Preparation - verification -
incubation - illumination

(D) Preparation - incubation -
verification - illumination

91. Match List - I (Author) with List - II
(Model) and indicate your response by
choosing the code given below.

List - I List - IT
(Author) (Model)
(a) Collins and (i) Storage model
Quillian
(b) Craik and (ii) Encoding
Lockhard specificity model

(c) Atkinson and

(i) Hierarchical

Shiffrin Network model
(d) Tulving (iv) Level of processing
model
Code :

(@ (b) () (d)
(A) (v) @) () @)
(B) () (v) (1) (i)
(€ @@ @) (@) (iv)
D) @ (v) () (i)

90. HeHATHS o H 9R SEened %1 g 9

FAEE?
(A) SRS - WaTEA - AR - Sg0a

(B)  STEISH - 3gWSA - Fale — FHTUEH0
(C) SIS - WHIONRIY - Ig9& | - JaIHA

(D) SIS -~ SZHAT - FHIIH - Falie

et - I (wwara ) H g - 11 (i)

% Ty faemse a1 =1 %2 % swdm @ wd
I AT
-1 gt - 11
( wETE ) ( wfeamT )

(a) hifer Tg (i) H=FF wfaam
e

(b) % TE (ii) FE Hha
wAfware T wfemm

(c) T e (iii) TEHHEF TH-73
foreta wfemm

(d) gafam (iv) THERL ¥R RiaEe

-

(@) () () (d)
(4) Gv) (@) () (i)
(B) @) @v) (@) ()
© @ @) @ @)
D) @) Gv) () (i)
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92.

93.

Which of the following are process

oriented theories of motivation ?

(a)

Vroom's Expectancy Theory

McClleland’s Achievement
Motivation Theory

(b)

(c) Skinner's Reinforcement Theory

(d) Maslow’s Need Hierarchy Theory

(A) (b) and (c)

(B) "(a) and (c)

(€) (a) and (d)

(D) (a) and (b)

According to ROC a highly sensitive
subject will generate a curve that lies in
the :
(A) Upper-left hand corner and has a
large ‘d’

(B) Upper-left hand corner and has a
small ‘d’

(C) Upper-right hand corner and has a

large ‘d’

D) Diagonally with small ‘d”
b4 y

92.

93,

e § | A AR 1 weRE 39E fae
§?
(a) &4 % oA fHgT

(b) Teraiee F Iqates Hfuseon fagid

(c) T =1 qAeie fagia

(d) e = SEvEE weE fHE
(A) (b) T (o)
(B) (a) W (c)
(a) T (d)
(D) (a) W (b)

ROC % #194R ifa dageia =afm +1 =%
el o feom g 2

(A) Fuf-and e = S IR T2 ‘a2

(B) Sudt-amd &1y & H AR BRI ‘A’ 'MW

(C) ud-3fe w1 F:1 w3k =@ df
Ul

(D) faweh v & Wiy B ‘d’ B
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94. Read each of the two sentences - 94. fimfafga 97 F9ar w1 uwfzgw -
Assertion (A) and Reason (R) and ATHHAT (A) T8 AT (R) | 297 I
indicate your answer using codes given e fed o F2 1 3uEE w BU T9IiEd -
below :

Assertion (A) : sfeRem (A):

The more intimate the relationship, the st gy e w2, s=fama e

less personal space is required. (TS TIY) FT I HH SAEEFHA B

Reason (R) : hIOT (R} :

The amount of personal space required frdl =afaa ¥ fom smavas =afsame w©m

for any person is subjective in nature. (ﬂjﬁ‘lﬁ TIY) %1 9 A gHa #w

B S

Code : %e :

(A) Both (A) and (R) are true and (R) is (A) EFi(A) W& (R) T € T (R) BRT (A)
correct explanation of (A). w1 HE S @R

(B) Both (A) and (R) are true and (R) is (B) aHI(A) TE (R) ¥ € W (R) 51T (A)
not correct explanation of (A). T TEl =Aren Tl 8 W)

(C) (A) is true, but (R) is false. (C) (A) U™ &, 9% (R) FTA ¥

(D) (A) is false, but (R) is true. (D) (A) &9 &, W (R) ¥4 21

95. What is not a test of intelligence ? 95. =1, dfgH i Tian T T ?

(A) Alternative Uses Test (A) Senfea SwE g

(B) WAIS (B) 9E¥ (T4, UHE.TH.)

(C) WISC-R (C) oy, 31E.uH. ot - 3T

(D) Stanford-Binet (D) wWrARE-faie

96. Reliability of a test cannot be determined 96. TUF Uen I fauTEa 39 R 99 T8

by : fFmsTasa 2 :
(A) Co-efficient Alpha (A) TUIE HITH
(B) Split-half Correlation (B) Tawifsia smen wewey
(C) Alternative Form (C) Ffcus =R
(D) Phi-Co-efficient (D) HI-TUE
SPACE FOR ROUGH WORK / 1% =1 & fag s
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97.

98.

Read the following two statements -
Assertion (A) and Reason (R). Indicate
your answer using codes given below :

Assertion (A) :

Leaders exert powerful effects on
followers through the attribution
followers make about them.

Reason (R) :

Leaders have self confidence and
sensitivity.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

The term drive was first used by :

(A) Robert S. Woodworth
(B) Clark Hull
(C) Sigmund Freud

(D) John-Watson

97.

98.

Trefafea <1 w9+ =1 ufen - aifirereas (A)
TS THIOT (R) | 3794 3o =l 1= feu mu 52
%1 I9IN FI g A

sifumaT (A)

FFAET A AW W 59 i B e
Td € 3T G A 3T STHA TG
H4E STed 2 |

T (R) :

Faed ® aenfavears v SaeAviea 2t 21

(A) =Fi(A) T (R) 97 & 991 (R) 371 (A)
1 TE == A R

(B) 3HI(A) TS (R) W & 71 (R) B (A)
w1 WEl 4Tl e 8 @ R

(C) (A) ¥4 & 9% (R) 38 B
(D) (A) 379 B, 7= (R) 54 21

Ui VI8 W1 SYAN 999 TEd R faa

o1 ?

(A) Tad Ty gead
(B) oI &
(C) fammve wHs

(D) SHA-S=E
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99. A person is in conflicting situation ~ 99. UF =fad g3 F feufd F & FifF R

because his attitudes are not #Afvgfal Td =Heoer o qeme 79 ¥ zg
synchronized with his behaviour. This feafa =1 #ea €

situation is called :

(A) Cognitive Resistance (A) WIS iy

(B) Cognitive non-compliance (B) HAHRH® -3FHeH

(C) Cognitive dissonance (C) Har fadmfa

(D) Cognitive consonance (D) W dfg

100. Choose the correct sequence involved in 100. wefiem fasm & @ HAHH & FZ FI

algorithm development : T ;
(a) Processing Definiteness (a) Afe=aa wem
(b) Possessing Effectiveness (b)  HTEIE B
(c) Processing Operation (c) AR THERT
(d) Processing Finiteness (d) oftfHdar gHw=RT
Code : Fe
(A) (). @) (d). (b) (A) (9. (a), (d), (b)
(B)  (b), (d), @) (c) (B) (b), (d), (a), (c)
(€) (b). (©). (a). () (©)  (b), () (@), (d)
(D) (@) (). (d), (b) (D) (@) (), (d), (b)
-o00o- -00o0-
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SET - A

TN SHTehd T & EET ; 2 °E } { afireray 31 : 200

Time for marking answers : 2 Hours Maximum Marks : 200

e
1. 30 79I 1 100 TS W9 € - T 9 2 3 W 81 o W we e st £
2. Wl % IW, & T OMR SW-¥E (H-3ie) W sifEa Ff

3. HICHS qeAihd @l e smem

4. T il T2 % Fegeret 31 @ a9 T Hieee B 5 93 afed 2

5. OMR IT-¥M2 (E-¥2) 1 W& 530 999 UHt 8 Wqﬁ/ﬁmﬂﬁwaﬁm
3qt A8 71 faere ofg 78 2 fraF worasy 97 T 8 Wi |

Note :

1. There are 100 objective type questions in this booklet. All questions are compulsory and
carry 2 marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.

3.  No negative marking will be done.

o=

Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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